EARAROBREBRT —5 XN—ZXBISH—F

2023688148 (B) 5EIEfIsH

S SR3IR =

1287 E25 05K

BN R

[AE%] 17 :1,400,000 § ~ 237 :560,000 @  37&:350,000 3  435:210,000 @ . 5 3&:140,000 M

B %R B FrE R/ I HE %F (T8 4L (B | BEIR | E3F |SIEH | AK | #E | BEE FR) / BE / £ERS
= s S : -1-1- - fEE—5% (&)
118l10| RF A=y ML 3 B 1.(2_5).7 1-1-1-1 | 38.0 5 (45;) e
RiAVAYTF—=Yay B:LyRIv L FEROF
o~ )— — PIER)it 2 -3-2- - Hime, CAF0)
) A ENVEES 3 | B 1.(229).1 3-3-2-2 | 38.4 1 (4:339) gt
R:aN/UvF— B:RU—RVRXVAY— WFERS
¢ w3 t 3 | BRfh 1:31.1 4-4-4-4 403 — | 4 | 445 |NARE CEAD)
3179 |NDINWTrwva * 54.0 (54%) © |ZW—ITDZ #)
RiLyRIFIIR B:YRY—0—7T e
57— 4 3 | RHES 1:31.4 2-2-3-3 | 40.7| — 3 433 | FLLER GE)
4lgl1| 739—-741L 54.0 a1 1y | AR
R:5TU—=FA B:N—L—AyX HRet BERNS
PSS 3 | REMS 1:32.1 5-6-6-6 | 40.6| — 8 | 455 |BH—AI CAfD)
50718 EFISv b 54.0 B) 6 | ERMEEE @)
RNZARDA—UT B RAAR—T7A =E77—h
= <R 83| BAITHIEL 1:33.2 11-11-10-8 | 40.8 | — 9 | 478 |BHOEC (AEHD)
EH 6| TLT A4V R 54.0 ®) (o) | ) PIRIRS
Ry d—F)LYI B:AILET El #3
N o v— s 3 | BIEER 1:33.3 10-7-7-7 |#1.5] — 6 482 | EFO=E CATD0)
71101 | A=ILRENZ— 54.0 O5) w7) | EERS
RIIRARI—IWIF— B:FAFPI LR e
== *~ b 3 | WEFw 1:33.9 5-5-5-5 | 42.5| — 2 454 | IGERR GETD)
sy 4| =>3092YR ! 54.0 3 (o | wisioE
RiIAYNUTIFY BV PYTOVT FORS
s 3 | BHEK 1:33.9 8-8-8-9 |41.8| — | 11 | 412 |JINSFH CAAD)
gy 3 | EE7 54.0 F93) (o) | EEHS
R:IU—9—0OYVRY B:RF/F—T RE 5
<, 7 i 3 | IS 1:35.9 9-9-9-10 |43.9| — | 10 | 473 |#LR D)
10 5| A VAXAY /EX 540 (94 1) gy |EEXE
RiIUVIA(I—2 B:TATPAI—FI £ %2
4 3 | BRE - 5-10-11 - - 7 455 | EH—R) GETD)
" - DIl < «<ba 54.0 (1) (-6) | TEFEER
RIRVIRAFAwII5UTP— B:FRAITSVVD BERFRIS
® 11— —@BIEfL
13—7F— 10,11,7,9,(2,4,8),3,5,1,6
20—F— 10,11,7,9.4,8,1,3,5,2,6
30—7— 10,7,11,9,4,8,1,3,5,6,2
43—F— 10,7,11,9,4,8,1,6,3,5
@ Ih\R=E
B B 10 1,320 | | 94 & 7-10 4204 & 6-8 4709 3EE 7-9-10 3,740M
B B 10 2909 9-10 2,250M B 8-6 1,240M EL| 10-7-9 31,690
7 1208 7-9 560/ 5 & 7-10 1,250H4
9 3309 o= 10-7 4,280M

ABIC OV TRUTEREERRODDZE. THRIIZEL.




